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QUESTION 1

Examine the data in the CUST_NAME column of the CUSTOMERS table. CUST_NAME 

Renske Ladwig Jason Mallin Samuel McCain Allan MCEwen Irene Mikkilineni Julia Nayer 

You need to display customers\\' second names where the second name starts with "Mc" or "MC." Which query gives
the required output? 

A. SELECT SUBSTR(cust_name, INSTR(cust_name,\\' \\')+1) FROM customers WHERE
INITCAP(SUBSTR(cust_name, INSTR(cust_name,\\' \\')+1))=\\'Mc\\'; 

B. SELECT SUBSTR(cust_name, INSTR(cust_name,\\' \\')+1) FROM customers WHERE
INITCAP(SUBSTR(cust_name, INSTR(cust_name,\\' \\')+1)) LIKE \\'Mc%\\'; 

C. SELECT SUBSTR(cust_name, INSTR(cust_name,\\' \\')+1) FROM customers WHERE SUBSTR(cust_name,
INSTR(cust_name,\\' \\')+1) LIKE INITCAP(\\'MC%\\'); 

D. SELECT SUBSTR(cust_name, INSTR(cust_name,\\' \\')+1) FROM customers WHERE
INITCAP(SUBSTR(cust_name, INSTR(cust_name,\\' \\')+1)) = INITCAP(\\'MC%\\'); 

Correct Answer: B 

 

QUESTION 2

View the Exhibit and examine the structure of the CUSTOMERS table. 

NEW_CUSTOMERS is a new table with the columns CUST_ID, CUST_NAME and CUST_CITY that have the same
data types and size as the corresponding columns in the CUSTOMERS table. Evaluate the following INSERT
statement: 

The INSERT statement fails when executed. What could be the reason? 

Latest 1Z0-051 Dumps | 1Z0-051 Practice Test | 1Z0-051 Study Guide                                2 / 6

https://www.geekcert.com/1Z0-051.html
https://www.geekcert.com/1Z0-051.html
https://www.geekcert.com/1Z0-051.html


https://www.geekcert.com/1Z0-051.html
2021 Latest geekcert 1Z0-051 PDF and VCE dumps Download

A. The VALUES clause cannot be used in an INSERT with a subquery 

B. The total number of columns in the NEW_CUSTOMERS table does not match the total number of columns in the
CUSTOMERS table 

C. The WHERE clause cannot be used in a sub query embedded in an INSERT statement 

D. Column names in the NEW_CUSTOMERS and CUSTOMERS tables do not match 

Correct Answer: A 

Copying Rows from Another Table 

Write your INSERT statement with a subquery: 

Do not use the VALUES clause. 

Match the number of columns in the INSERT clause to those in the subquery. Inserts all the rows returned by the
subquery in the table, sales_reps. 

 

QUESTION 3

Examine the structure and data in the PRIC E_LIST table: Name Null? Type ------------ ------------- ------------------PROD_D
NOT NULL NUMBER(3) 

PROD_PRICE VARCHAR2(10) 

PROD_ID PROD PRICE 

100 $234.55 101 $6,509.75 102 $1,234 in the same format as the PROD_PRICE. Which SQL statement would give the
required result? 

A. SELECT TO_CHAR(prod_price* .25.\\'$99.999.99\\') FROM PRICEJLIST: 

B. SELECT TO_CHAR(TO_NUMBER(prod_price)* .25.\\'$99.999.00\\') FROM PRICE_LIST; 

C. SELECT TO_CRAR(TO_NUMBER(prod_price.\\'S99.999.99\\')* .25.\\'$99.999.00\\') FROM PRICE_LIST: 

D. SELECT TO_NUMBER(TO_NUMBER(prod_price.,$99.999.99\\')* .25/$99.999.00\\') FROM PRICE_LIST: 

Correct Answer: C 

 

QUESTION 4

View the Exhibit and examine the structure of CUSTOMERS and SALES tables. 
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Evaluate the following SQL statement: 

UPDATE (SELECT prod_id, cust_id, quantity_sold, time_id 

FROM sales) 

SET time_id = \\'22-MAR-2007\\' 

WHERE cust_id = (SELECT cust_id 

FROM customers 

WHERE cust_last_name = \\'Roberts\\' AND 

credit_limit = 600); 

Which statement is true regarding the execution of the above UPDATE statement? 

A. It would not execute because two tables cannot be used in a single UPDATE statement. 

B. It would not execute because the SELECT statement cannot be used in place of the table name. 
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C. It would execute and restrict modifications to only the columns specified in the SELECT statement. 

D. It would not execute because a subquery cannot be used in the WHERE clause of an UPDATE statement. 

Correct Answer: C 

One UPDATE statement can change rows in only one table, but it can change any number of rows in that table. 

 

QUESTION 5

What is true about the WITH GRANT OPTION clause? 

A. It allows a grantee DBA privileges. 

B. It is required syntax for object privileges. 

C. It allows privileges on specified columns of tables. 

D. It is used to grant an object privilege on a foreign key column. 

E. It allows the grantee to grant object privileges to other users and roles. 

Correct Answer: E 

The GRANT command with the WITH GRANT OPTION clause allows the grantee to grant object privileges to other
users and roles. 

Incorrect Answers 

A: The WITH GRANT OPTION does not allow a grantee DBA privileges. 

B: It is not required syntax for object privileges. It is optional clause of GRANT command. 

C: GRANT command does not allows privileges on columns of tables. 

D: It is not used to grant an object privilege on a foreign key column. 

OCP Introduction to Oracle 9i: SQL Exam Guide, Jason Couchman, p. 356-365 Chapter 8: User Access in Oracle 
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